



Commercial Invoice

Invoice Number 0000994217

Invoice Date 29-01-2026

ITN

Exporter CORDIS US CORP
86316364300
14201 NW 60th Avenue
Miami Lakes FL
United States of America 33014
86-3163643

Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD
BLDG NO.A3,UNIT NO.E
BABOSA INDUSTRIAL PARK
SARAVALI VILLAGE, BHIWANDI
THANE, MH 421302
India

End-User

Freight Forwarder

EXPEDITORS - MEM

Carrier

QATAR Airlines, ,HAWB: 4320201017,MAWB: 157-98788395

Ship From DC Branch Plant
8631664300
4080 Executive Dr
Southaven, MS 38672
United States of America
863163643

Bill To CORDIS INDIA MEDICAL DEVICES PVT LTD
701.B WING, SUPREME BUSINESS PARK
HIRANANDANI GARDEN
HIRANANDANI GARGEN, POWAI
MUMBAI, MH 400076
India

MOT : Air

Port of Export : O'Hare International, Chicago

Payment Method:

Incoterms & Location : DPU : Chhatrapati S Mahara J,
Mumbai

Port of Unlading : CHHATRAPATI S MAHARAJ, MUMBAI

Payment Terms: Net 45 Days

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
1.000	4171460L	MAXI LD 7F 14X6 110CM Lot#: 82353746 Expiration Date: 03/31/2027	9018390040	EAR99	CR	441735 14-Jan-2026	21	EA	5010.19	105213.99
2.000	4171660L	MAXI LD 7F 16X6 110CM Lot#: 82354152 Expiration Date: 03/31/2027	9018390040	EAR99	CR	441735 14-Jan-2026	23	EA	5010.19	115234.37
3.000	48010002R	Saber .035 10x20 135cm SL Lot#: 82335630 Expiration Date: 03/31/2028	9018390040	EAR99	CR	441735 14-Jan-2026	1	EA	5603.63	5603.63
4.000	502455	DGW .035 FC J3MM 260CM TEF Lot#: 35274684 Expiration Date: 10/31/2028	9018390050	EAR99	IE	441735 14-Jan-2026	65	EA	646.03	41991.95
5.000	502521	DGW .035 FC J3MM 150CM TEF Lot#: 35274671 Expiration Date: 10/31/2028	9018390050	EAR99	IE	441735 14-Jan-2026	80	EA	392.35	31388.00
6.000	504300	BIOPSY FORCEPS 5.5F STD 104CM Lot#: 70825270 Expiration Date: 07/31/2028	9018908000	EAR99	US	441735 14-Jan-2026	1	EA	6412.98	6412.98

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items, without first obtaining approval from the U.S. government or as otherwise authorized by U.S. law and regulations.

Total Invoice Value INR 1200042.88

Print Date 01-29-2026

User Name alejandro.
bencomo01@cordis.
com-cordis

Digital Signature

Page Number 1 of 6

Commercial Invoice (continuation)

Invoice Number 0000994217	Invoice Date 29-01-2026
----------------------------------	--------------------------------

Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India	End-User
---	--	-----------------

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
7.000	504604S	SI AVANTI + CSI 4F 7.5CM PED Lot#: 18500928 Expiration Date: 08/31/2028	9018390050	EAR99	MX	441735 14-Jan-2026	140	EA	373.75	52325.00
8.000	504604S	SI AVANTI + CSI 4F 7.5CM PED Lot#: 18504170 Expiration Date: 08/31/2028	9018390050	EAR99	MX	441735 14-Jan-2026	60	EA	373.75	22425.00
9.000	504617Z	SI AVANTI+ TRANSRAD KIT 11CM Lot#: 18495667 Expiration Date: 07/31/2028	9018390050	EAR99	MX	441735 14-Jan-2026	45	EA	518.26	23321.70
10.000	507914	SGW STABLIZR .014 180CM ST SS Lot#: 35274598 Expiration Date: 09/30/2027	9018390050	EAR99	IE	441735 14-Jan-2026	195	EA	2550.29	497306.55
11.000	533642	CATH F6 ST+ MP A2 100CM 2SH Lot#: 18521633 Expiration Date: 09/30/2028	9018390040	EAR99	MX	441735 14-Jan-2026	10	EA	410.73	4107.30
12.000	534519T	CATH F5 INF JR 3.5 100CM Lot#: 18515758 Expiration Date: 09/30/2028	9018390040	EAR99	MX	441735 14-Jan-2026	125	EA	476.91	59613.75
13.000	534544T	CATH F5 INF MP A2 125CM 2SH Lot#: 18518248 Expiration Date: 09/30/2028	9018390040	EAR99	MX	441735 14-Jan-2026	10	EA	647.06	6470.60

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 1200042.88

Commercial Invoice (continuation)

Invoice Number 0000994217	Invoice Date 29-01-2026
Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India

End-User

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
14.000	534550S	CATH F5 INF PIG 110CM 6SH Lot#: 18518249 Expiration Date: 09/30/2028	9018390040	EAR99	MX	441735 14-Jan-2026	30	EA	470.15	14104.50
15.000	67003600	6F .070 AL 1 100CM Lot#: 18523075 Expiration Date: 09/30/2028	9018390040	EAR99	MX	441735 14-Jan-2026	3	EA	1505.50	4516.50
16.000	67005600	6F .070 XB 4 100CM Lot#: 18525764 Expiration Date: 10/31/2028	9018390040	EAR99	MX	441735 14-Jan-2026	7	EA	1505.50	10538.50
17.000	67008200	6F .070 JR 4 100CM Lot#: 18528266 Expiration Date: 10/31/2028	9018390040	EAR99	MX	441735 14-Jan-2026	40	EA	1505.50	60220.00
18.000	67011000	6F .070 AR 1 100CM Lot#: 18511757 Expiration Date: 09/30/2028	9018390040	EAR99	MX	441735 14-Jan-2026	1	EA	1505.50	1505.50
19.000	67013000	6F .070 3 DRC 100CM Lot#: 18530954 Expiration Date: 10/31/2028	9018390040	EAR99	MX	441735 14-Jan-2026	4	EA	1505.50	6022.00
20.000	67021255	6F .070 RDC (LARGE) 55CM Lot#: 18500753 Expiration Date: 08/31/2028	9018390040	EAR99	MX	441735 14-Jan-2026	9	EA	1505.50	13549.50

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 1200042.88

Commercial Invoice (continuation)

Invoice Number 0000994217	Invoice Date 29-01-2026
----------------------------------	--------------------------------

Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India	End-User
--	---	-----------------

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
21.000	67027800	6F .070 H-STK 100CM Lot#: 18525756 Expiration Date: 10/31/2028	9018390040	EAR99	MX	441735 14-Jan-2026	5	EA	1505.50	7527.50
22.000	77800200	GC 7F 078 JL 3.5 Lot#: 18523421 Expiration Date: 09/30/2028	9018390040	EAR99	MX	441735 14-Jan-2026	1	EA	1505.50	1505.50
23.000	77805200	GC 7F 078 XB 3 Lot#: 18523426 Expiration Date: 09/30/2028	9018390040	EAR99	MX	441735 14-Jan-2026	1	EA	1505.50	1505.50
24.000	77808000	GC 7F 078 JR 3.5 Lot#: 18523423 Expiration Date: 09/30/2028	9018390040	EAR99	MX	441735 14-Jan-2026	4	EA	1505.50	6022.00
25.000	77821255	GC 7F 078 RDC 55CM Lot#: 18511782 Expiration Date: 09/30/2028	9018390040	EAR99	MX	441735 14-Jan-2026	4	EA	1505.50	6022.00
26.000	SM7333	GC LBT 5F.056 100CM AR1 Lot#: 18500011 Expiration Date: 08/31/2028	9018390040	EAR99	MX	441735 14-Jan-2026	1	EA	3050.00	3050.00
27.000	48006002R	Saber .035 6x20 135cm SL Lot#: 82340283 Expiration Date: 05/31/2028	9018390040	EAR99	CR	441736 14-Jan-2026	1	EA	5603.63	5603.63

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 1200042.88

Commercial Invoice (continuation)

Invoice Number 0000994217	Invoice Date 29-01-2026
----------------------------------	--------------------------------

Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India	End-User
---	--	-----------------

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
28.000	48009004R	Saber .035 9x40 135cm SL Lot#: 82341292 Expiration Date: 05/31/2028	9018390040	EAR99	CR	441736 14-Jan-2026	1	EA	5603.63	5603.63
29.000	507114Y	SGW STAB PLUS .014 300CM J SS Lot#: 35274575 Expiration Date: 09/30/2027	9018390050	EAR99	IE	441736 14-Jan-2026	10	EA	2820.88	28208.80
30.000	534552S	CATH F5 INF PIG145 110CM 6SH Lot#: 18525909 Expiration Date: 10/31/2028	9018390040	EAR99	MX	441736 14-Jan-2026	5	EA	488.75	2443.75
31.000	534560T	CATH F5 INF IM 100CM Lot#: 18528595 Expiration Date: 10/31/2028	9018390040	EAR99	MX	441736 14-Jan-2026	10	EA	468.46	4684.60
32.000	534622T	CATH F6INF TL JL 5 100CM Lot#: 18528088 Expiration Date: 10/31/2028	9018390040	EAR99	MX	441736 14-Jan-2026	10	EA	489.60	4896.00
33.000	534624T	CATH F6INF TL JL 6 100CM Lot#: 18521608 Expiration Date: 09/30/2028	9018390040	EAR99	MX	441736 14-Jan-2026	5	EA	497.21	2486.05
34.000	534645T	CATH F6INF TL AL I 100CM Lot#: 18528085 Expiration Date: 10/31/2028	9018390040	EAR99	MX	441736 14-Jan-2026	15	EA	498.90	7483.50

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 1200042.88

Commercial Invoice (continuation)

Invoice Number 0000994217	Invoice Date 29-01-2026
----------------------------------	--------------------------------

Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India	End-User
--	---	-----------------

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
35.000	534670T	CATH F6INF TL RCB 100CM Lot#: 18526724 Expiration Date: 10/31/2028	9018390040	EAR99	MX	441736 14-Jan-2026	5	EA	507.35	2536.75
36.000	534676T	CATH F6INF TL 3DRC 100CM Lot#: 18521153 Expiration Date: 09/30/2028	9018390040	EAR99	MX	441736 14-Jan-2026	9	EA	470.15	4231.35
37.000	5561120L	GC 5F 056 AR 2 LBT Lot#: 18497084 Expiration Date: 08/31/2028	9018390040	EAR99	MX	441736 14-Jan-2026	1	EA	1505.50	1505.50
38.000	77800200	GC 7F 078 JL 3.5 Lot#: 18523421 Expiration Date: 09/30/2028	9018390040	EAR99	MX	441736 14-Jan-2026	1	EA	1505.50	1505.50
39.000	SM7328	GC LBT 5F.056 100CM XB 3.0 Lot#: 18528348 Expiration Date: 10/31/2028	9018390040	EAR99	MX	441736 14-Jan-2026	7	EA	3050.00	21350.00

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items, without first obtaining approval from the U.S. government or as otherwise authorized by U.S. law and regulations.

Total Invoice Value INR 1200042.88
